

Fiscal Year 2024 - 2025

Mingus Union High School District - (130504000) - (4488)

Page 1 of 1

Print Date: 10/17/2024

Number of Years Experience	×	Number of FTE Certified Teachers	11	Number of FTE Years of Experience	è						
_	×	1.00	"	1.00							
2	×	0.00	II	0.00							
ω	×	1.00	II	3.00							
4	×	0.00	II	0.00							
51	×	1.00	II	5.00							
6	×	1.00	II	6.00							
7	×	3.00	II	21.00							
œ	×	5.75	II	46.00							
9	×	5.00	П	45.00							
10	×	2.00	II	20.00							
11	×	4.00	11	44.00							
12	×	3.00	II	36.00							
3	×	2.00	П	26.00							
14	×	3.00	II	42.00							
15	×	23.49	11	352.35							
	Total:	55.24		647.35							
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN DISTRICT	E YEARS OF EX	PERIENCE	OF CERTIFIE	TEACHE	RS IN DI		11.7189
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN ARIZONA	E YEARS OF EX	PERIENCE (OF CERTIFIE	DTEACHE	RS IN AF	RIZONA	9.5094
						TEACH	TEACHER EXPERIENCE INDEX FOR DISTRICT	NCE INDE	X FOR DI	STRICT	1.0497
11.7189	ı	9 5094	II	2.2095	x 0 0225) T	70/07	۰	۰		1 0407



Fiscal Year 2023 - 2024

Print Date: 10/17/2024 Page 1 of 1

Mingus Union High School District - (130504000) - (4488)

Experience	×	Certified Teachers	"	Number of FTE Years of Experience of Certified Teachers
	×	1.00	п	1.00
- 2	×	1.00	II	2.00
ω	×	0.00	П	0.00
4	×	1.00	п	4.00
Ŋ	×	1.00	II	5.00
o	×	3.00	11	18.00
7	×	4.75	11	33.25
œ	×	5.00	11	40.00
9	×	2.00	11	18.00
10	×	4.00	П	40,00
1	×	2.00	II	22.00
12	×	2.00	И	24.00
ಪ	×	3.00	П	39.00
14	×	4.00	П	56.00
15	×	22.00	н	330,00
	Total:	55.75		632.25
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN DISTRICT
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN ARIZONA
11.3408 - 9.4546 = 1.8862				



Fiscal Year 2022 - 2023

Mingus Union High School District - (130504000) - (4488)

Page 1 of 1

Print Date: 10/17/2024

Number of Years	×	Number of FTE	n	Number of FTE Years of Experience		
_	×	2.00	"	2.00		
2	×	0.00	II	0.00		
ω	×	1.00	11	3.00		
4	×	1.00	II	4.00		
ΟΊ	×	4.00	II	20.00		
ග	×	5.00	II	30.00		
7	×	5.00	П	35.00		
∞	×	2.00	H	16.00		
9	×	4.00	Ш	36.00		
10	×	2,00	II	20.00		
11	×	3.00	11	33.00		
12	×	3.00	II	36.00		
13	×	4.00	11	52.00		
14	×	2.00	П	28.00		
15	×	22.00	11	330.00		
	Total:	60.00		645.00		
				AVERAGE NUMBER OF FTE	AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN DISTRICT	10.7500
				AVERAGE NUMBER OF FTE	AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN ARIZONA	9.5016
					TEACHER EXPERIENCE INDEX FOR DISTRICT	1.0281
10.7500 Note: Only teachers	: reporte	9.5016 at School Site level sl	nall be i	10.7500 - 9.5016 = 1.2484 Note: Only teachers reported at School Site level shall be included in TEI Calculation.	x 0.0225 = 0.0281 + 1 =	1.0281



Fiscal Year 2021 - 2022

Page 1 of 1

Mingus Union High School District - (130504000) - (4488) Print Date: 10/17/2024

Experience	,	Certified Teachers	'	number of File Tears of Experience of Certified Teachers
_	×	0.00	II.	0.00
2	×	1.60	11	3.20
ω	×	1.00	II	3.00
4	×	3.00	11	12.00
ڻ ن	×	4.00	II	20.00
o	×	5.00	Ii	30.00
7	×	2.00	II	14.00
œ	×	2.00	II	16.00
9	×	1.00	Ш	9.00
10	×	3.00	II	30.00
11	×	4.00	II	44.00
12	×	5.00	н	60.00
13	×	2.00	н	26.00
14	×	3.00	11	42.00
15	×	22.00	11	330,00
	Total:	58.60		639.20
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN DISTRICT
				AVERAGE NUMBER OF FTE YEARS OF EXPERIENCE OF CERTIFIED TEACHERS IN ARIZONA
10.9078 - 9.5556 = 1.3522		9,5556	H	1.3522 x 0.0225

ARIZONA DEPARTMENT OF EDUCATION

Teacher Experience Report Mingus Union High School District (130504000)

Page 1 Of 10/17/2024

Number of Years Experience	х	Number of FT Certified Teach		Number of FTE Y Experience of Certifie			
1	х	2.00	=	2.0	0		
2	x	3.00	=	6.0	0		
3	х	4.60	=	13.8	0		
4	x	4.00	=	16.0	0		
5	x	5.00	=	25.0	0		
6	x	1.00	=	6.0	0		
7	x	2.00	=	14.0	0		
8	x	3.00	=	24.0	0		
9	x	4.00	=	36.0	0		
10	x	2.00	=	20.0	0		
11	x	4.00	=	44.0	0		
12	х	3.00	=	36.0	0		
13	x	1.00	=	13.0	0		
14	x	7.00	=	98.0	0		
15 (or more)	x	14.00	=	210.0	0		
	Total:	59.60		563.8	0		
	AV	ERAGE NUMBER	R OF FTE YE	ARS OF EXPERIENCE O	F CERTIFIED TE	ACHERS IN DISTRIC	P.4597
	A۱	/ERAGE NUMBER	R OF FTE YE	ARS OF EXPERIENCE O	F CERTIFIED TE	ACHERS IN ARTZON	IA 9.6106
				TEACHER EX	(PERIENCE INDE	X FOR DISTRICT	0.9966
9.4597	9.	6106 =	-0.1509	× 0.0225	= -0.0034	+ 1.0000 =	0.9966

ARIZONA DEPARTMENT OF EDUCATION

Teacher Experience Report Mingus Union High School District (130504000)

Page 1 Of 10/17/2024

Number of Years Experience	х	Number of FTE Certified Teache			Number of FTE Yea erience of Certified					
1	х	2.00	=		2.00					
2	x	5.00	=		10.00					
3	x	6.00	=		18.00					
4	x	3.00	=		12.00					
5	x	1.00	=		5.00					
6	x	2.00	=		12.00					
7	x	4.00	=		28.00					
8	x	3.00	=		24.00					
9	x	2.00	=		18.00					
10	x	3.00	=		30.00					
11	x	4.00	=		44.00					
12	x	2.00	=		24.00					
13	x	6.00	=		78.00					
14	x	2.00	=		28.00					
15 (or more)	x	15.00	=		225.00					
	Total:	60.00			558.00					
	AV	ERAGE NUMBER	OF FTE YE	ARS O	F EXPERIENCE OF	CERTIFIED TE	ACHERS	S IN DIS	STRICT	9.3000
	AV	ERAGE NUMBER	OF FTE YE	ARS O	F EXPERIENCE OF	CERTIFIED TE	ACHER	S IN AR	RIZONA	9,4960
					TEACHER EXP	ERIENCE INDE	X FOR I	DISTRIC	ет	0.9956
9.3000 -	9.4	4960 =	-0.1960	x	0.0225 =	-0.0044	+ 1.0	0000	=	0.9956